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1 Lista 13 - Exerćıcios

1.1 Exerćıcios: Identidades Trigonométricas

1. Prove para todo x ∈ R, x 6= kπ/2 que valem as seguintes relações:

(a) cotan(x) =
1

tan(x)

(b) tan2(x) + 1 = sec2(x)

(c) 1 + cotan2(x) = cossec2(x)

(d) cos2(x) =
1

1 + tan2(x)

(e) sin2(x) =
tan2(x)

1 + tan2(x)

2. Prove

(a) tan(x) + cotan(x) = sec(x) · cossec(x)

(b) (tan(x) + cotan(x))(sec(x)− cos(x))(cossec(x)− sin(x)) = 1

(c) sec2(x) + cossec2(x) = sec2(x) · cossec2(x)

(d)
cotan2(x)

1 + cotan2(x)
= cos2(x)

(e)
sin3(x)− cos3(x)

sin(x)− cos(x)
= 1 + sin(x) · cos(x)

(f) cossec2(x) + tan2(x) = sec2(x) + cotan2(x)

(g) 2(sin(x) + tan(x))(cos(x) + cotan(x)) = (1 + sin(x) + cos(x))2

(h)
1− cos(x)

1 + cos(x)
= (cossec(x)− cotan(x))2

(i)
cos(x) + cotan(x)

tan(x) + sec(x)
= cos(x) · cotan(x)
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